9 = q p120 = PopX
Y0—-409T —+ Y0—-4d¥S'c = WJION
00+d9€'T —+ 00+d10°€- = d
10-4d4s1’'s -—+ 10-4d1g'€E = HN
cl-4d20'v = Xni4
10-392'1 = @jed dads
A9/ AS1auy
001 010
_ rerr T | | _ L mlo.H
— - - $-01
— .Ayll.|| - ¢-01
C [ FN 1 [1i1 10 7

VISYET+¥'810091I SXdc

(A93 s zwd)/suojoyd

A3/ K3asuqg

001 01’0
II_ 1 _______ 1 1 ______I
= | _ﬁ |
w|_ ] | NI T T T N | ] ______I_m.

A9¥ /ABasuy

001 010
=T T T T T T 1 T [TTT T T-F
L | 1 I 1 Lirii1 o

[mod,wwes

1100 €¥SiE6

s[enpisay

e-01

=-01

1-01

(A®¥ s)/syuno)



